yyfART M

B
\w\%+
SV -1Z
\m;\\ b
VE- o+
F- 2 ~
AIETE »
V9
M (O 12 F

AR
Y RIPATI AR o

ATBEEIE
JI7-F &
VilVELAE
wx\“«\%\

269

10,000 - 57005 4600 \Q«Q%%&%\v\ ouU  iteriees

It wniaya - 50 ispmreds - 3 = 3600 wspmitreii

\Wﬁ\ﬁh\x@\%&%\ -Mbgwl

3600 - \\w\wv'%%%&%&&\l

vl 100, 00 5 weeernya

A

vorpueaitt N L +4o
QW\%&.\?\“X
R ARADVIVAY) \\M&i&\
100.000. 100" 1€ 5 §900

fuikent: \%&m\_ 106900, m\%

WU CGLLLKU Iy, MOINOILY ririo _gomde il 65

Uien | pidegy oal | ict s gonr| | cooetr?

bt 4 20000 e D
Wite | periidene &,\ WWM\M\MW@Q\\\&\N Luere 20u,

u@x& ! 20 000 epedpa p
n&&»\\& i \\Q\&% e
1005 ety = 16,380,

20000 % s 5 080p wecg«

VA A VEEY,

5V 14385 9u 456
A0 000 3505 FDu




/

/

-1 s
der L e
%=1 x,%\y
o = 1 \&n
| £-14 A5
| /1
| -3 48 10-7 L, JAr
4145 11-3 g5 454 4
- Y 4s 113 45
9-% & 13-% 26
L3

% = KNQ 1%- 34528 20~ ?Ntm

| \\A\T mmﬂ 19~ ﬁ\,wmaﬂ
| 1, A1

%i“\ m% 120-150= %3¢ (4] AUlHI T30

P

g %@a L a5ty A %110 100 1=1)

B

g%%

& 12 0-$:1041u
! PW, 100= 10w

| w10
L-UQ

/r WL,

T s T gﬁ%%\@@ ‘

/sg
,. s §§& BIYE R\\\g&s}& \\w\

U8 23000 20-2w
;&\e%? 1t 1A0-Bw 2] L21Y
—8 ) A p A

;,\ﬁ\%% &Eg\,&m&ﬁxi
e S pomatre = 1)) T \&Ew&-

2

_ (dopped il g

4 Q\t&@\\é& &
% : i s§

g\\&,\\w
124}
hAY-50 po~

50-500 o Qs= 260 +50P
250 0p Bhi+ Lboge WU - m

2L 60-10, 4 Pu gz 2429
Dy b-105:1=60-Y1 <79

b42494-

§ 413277 P

C

20: 34-7Z9:4

o fygosuedl
$ th iy 49-10=20

bu»

4

(f\\




